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QUESTION 1

Which two challenges could be resolved by Implementing Data Center Virtualization? (Choose two.) 

A. An organization\\'s physical server Infrastructure Is approaching 90% utilization. 

B. An organization\\'s physical server Infrastructure averages 30% utilization. 

C. The IT department is reporting slow storage performance. 

D. The IT department spends significant budget on power and cooling requirements. 

Correct Answer: AD 

 

QUESTION 2

Which statements describe the features of a cluster managed by vCenter Server? (Choose two.) 

A. Cluster is a package of multiple interoperating virtual machines that cars be distributed in OVF format. 

B. Host resources become part of the cluster\\'s resources. 

C. A cluster consists of multiple networked ESXi hosts. 

D. Clusters require High Availability (HA) or vSphere Distributed Resource Scheduler (DR5) solutions. 

Correct Answer: AD 

 

QUESTION 3

Which two are managed storage objects that can be administered through the Storage inventory hierarchy in the
vSphere Web Client? (Choose two) 

A. Virtual Volumes 

B. Virtual disks 

C. Datastores 

D. Datastore Clusters 

Correct Answer: CD 

 

QUESTION 4

Which two VMware solutions help organizations plan for disaster recovery? (Choose two.) 

A. High Availability 
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B. Fault Tolerance 

C. vSphere Replication 

D. Site Recovery Manager 

Correct Answer: CD 

 

QUESTION 5

Which solution monitors an organizations infrastructure for efficiency and performance across both the virtual and
physical infrastructure . 

A. V realize operations manager 

B. V realize automation 

C. Horizon (with view) 

D. V cloud director 

Correct Answer: B 
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